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Section Number : 1

Section type : Online
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Number of Questions : 100
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Section Marks : 100



Maximum Instruction Time : 0

Sub-Section Number : 1
Sub-Section Id : 50131477
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 5013144807 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0
Amethyst 15 a vanety of the

w6 Y TnE) 880
Options :
1. ¢ Quartz

Calcite
2. ®

3 % Microcline

Corundum

Question Number : 2 Question Id : 5013144808 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0
Which one of the following 1s the correct of mcreasing values of Hardness (low to high)?
& (Bob 06" KB5S 555 H0D 2ES Ko el (EHS0H HBoSE.
Options :
Talc, Gypsum, Topaz, Apatite

1. %

Gypsum, Topaz, Tale, Apatite

Talc, Gypsum, Apatite, Topaz
3.¢

Apatite, Tale, Gypsum, Topaz
4. %

Question Number : 3 Question Id : 5013144809 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0



Which one of the following is the high rank coal?

& B08 RS wiE 5“,,5-:;:-:'. e@HE =55 Dend Ko Jodtih 267
Ll
Options :

Peat

Anthracite
2.9

3 % Lignite

Bituminous

Question Number : 4 Question Id : 5013144810 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

“Lingula™ 1s an example for
“Dotber” a8 &orerles

Options :

1. % Microfossil

5 % Trace fossil

3 % Plant fossil

Living fossil
4. v

Question Number : 5 Question Id : 5013144811 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Refractive index of canada balsam is
S erene aing) BlaR8S =0aE)
Options :

1.84
1%



2.72

1.22

1.54

Question Number : 6 Question Id : 5013144812 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Orthoclase cry -st'lllizes in the system
5 _;rJ 08 lri &5 -il" { o

Options :

Tetre 1
1% etragona

Monoclinic
2. %

Orthorhombic

Triclinic
%

Question Number : 7 Question Id : 5013144813 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which among the following is the oldest in the Kurnool system?
*{dmf C‘:{' :{Ka'd:n ES) G_"?:g‘_:la.l_nl.'u[u

Options :

Nandyal shale
1. %

Banaganapalle quartzite
2.9V

Koilkuntla limestone
3. ®



Panyam quartzite

Question Number : 8 Question Id : 5013144814 Question Type : MCQ Option Shuffling : Yes

Correct Marks : 1 Wrong Marks : 0

Which one of the following 1s the calcium aluminum silicate?

B . = il s B B v o E =
% Bod rRE° s dho eeypibor HOBY 6?

Options :
Anorthite
1.¢

5 % Bytownite

orthoclase

4 w Albite

Question Number : 9 Question Id : 5013144815 Question Type : MCQ Option Shuffling : Yes

Correct Marks : 1 Wrong Marks : 0

The long straight hinge line 1s characteristic property of
EPEEN 530S DS mofiDy dngy ofsore e derao 267

Options :

1% Atrypa

Turritella
2. ®

Athyris

Spirifer
4. v

Question Number : 10 Question Id

: 5013144816 Question Type : MCQ Option Shuffling : Yes



Correct Marks : 1 Wrong Marks : 0
Cuprite 1s an ore nuneral of
Ero(385 HAG0E) e

Options :

1 % Manganese

Copper
2.9

3 % Iron

Magnesium
4., %

Question Number : 11 Question Id : 5013144817 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which one of the following rocks 1s composed predomunantly of quartz and feldspars?

5 [ Do i s e g KOyasl g,
w68 bdin Do ten SogEnre $OA% de
e = =

Options :
1. % Anorthosite

2.« Granite

3 % Basalt

Syenite

Question Number : 12 Question Id : 5013144818 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The smallest Lithostratigraphic unit 1s the

' o a e st L N AT
wg) Beerad |sosareand” e A (+1aB8)
= & e L

Options :

Formation



Member

2. %
Bed
3.¥
Group
4. %

Question Number : 13 Question Id : 5013144819 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0
Arrange the following eras based on the age (from the oldest to the most recent)

& (Bod pFciniidnesd Sahid Bsdo Mbodod (Horddan hod)
Options :

Proterozoic, Paleozoic, Mesozoic, Cenozoic
1.¢

Proterozoic, Mesozoic, Cenozoic, Paleozoic
2. %

3 % Cenozoic, Paleozoic, Mesozoic, Proterozoic

Cenozoic. Mesozoic. Paleozoic, Proterozoic
4, %

Question Number : 14 Question Id : 5013144820 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Chamockite 15 a
B el
Options :
Metamorphie rock

1.4

Voleanie rock
2. ®



3 % Sedimentary rock

Carbonate rock
4, %

Question Number : 15 Question Id : 5013144821 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The central part of the echinoid test 1s called
wémroné g weitd erridng woirth

Options:

1. Corona

2 % Peristome

Apical disc

Plate

Question Number : 16 Question Id : 5013144822 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The upper surface of the zone of saturation 1s called as
H0&F oteo by Serd) BOLFH

Options :
Plane table

Vadose zone

Soil zone

Water table



Question Number : 17 Question Id : 5013144823 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The geological age of the “Pecten™ 1s

280 dng fPivsre Habin
Options :
Cambrian

1. %

Devonian
2. ®

Cretaceous to recent
3.¢

Silurian to recent
4, %

Question Number : 18 Question Id : 5013144824 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Thorax 1s the central and important part of
Foe) D8 d@ng) (Do Sbain el grrdn

Options :
 Brachiopod
1. %

> % Cephalopod

Trilobites
3. ¥

Echinoid

Question Number : 19 Question Id : 5013144825 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following are surface waves

s, = Lt ]

&% (Bob OE° girsos) 4b&8e ddorren 81

Options :
1. %



P- waves

) % S —waves

L- waves
3.9

4 % P & S —waves

Question Number : 20 Question Id
Correct Marks : 1 Wrong Marks : 0

Ocher 1s mostly used for
£.850 Snygore & &H3

Options :
Pamts & Pigments

1.4

“ Abrasive

Glass
®

Fertilizers

Question Number : 21 Question Id
Correct Marks : 1 Wrong Marks : 0

EKutch 1s a tﬁ;pe area for

2o £ EI" { CE'C-J\*_:{_ BT [ PO
Options :

1 % Cretaceous system

5 % Siwalik system

Triassic system
3. %

: 5013144826 Question Type : MCQ Option Shuffling : Yes

oY

: 5013144827 Question Type : MCQ Option Shuffling : Yes



Jurassic system

4. ¢

Question Number : 22 Question Id : 5013144828 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which one of the following is a mononuneralic rock?

e =1 = o - . BET
&3 |208 THE 8 pda do 67

Options:

Dolerite

Dacite

Dunite

Diorite

Question Number : 23 Question Id : 5013144829 Question Type : MCQ Option Shuffling : Yes

Correct Marks : 1 Wrong Marks : 0

Foot prints, trails and burrows are
artdin(tien., arden Hban FBahed [ZTeT il

Options :
Trace fossils

1.4

> % Index fossils

Body fossils
3. %

Skeleton fossils



Question Number : 24 Question Id : 5013144830 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following has highest TDS

% |Bod 08" ©fE TDS 50A5D
Options :

Sea water
1. %

Brackish water

Brine

Saline water

Question Number : 25 Question Id : 5013144831 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

A line which joins the points of equal elevation
SErEDE Qe oo 50 Oy
Options :

Isopach
1. %

. Isoseismal
2. ®

Isobar

Contour
4. <

Question Number : 26 Question Id : 5013144832 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0



Apparent dip 1s always
e cl-gaﬂgg ) D28 58 &oénob

Options :
More than true dip

1. %
Less than true dip
2. ¥
Both are equal
3. %
No Relation
4. ®

Question Number : 27 Question Id : 5013144833 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The Majhgav.an munes of Madhya Pradesh 1s famous for
S0GE QSN EMrSS Maven HBS [EC:EDCJ

Options :

_— Manganese

Copper
2. % =

Gold

Diamond
4, &

Question Number : 28 Question Id : 5013144834 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following mineral pairs are polymorphs?
& (Bob =0&° E:Ei'_ﬂ--fb_."f'ﬁéc‘:te EDAS plsren of)?

Options :



Magnetite — Hematite

Calcite — Aragonite
2.9

Pyrite — Chalcopyrite
3. %

Quartz — Orthoclase
4, %

Question Number : 29 Question Id : 5013144835 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The average specific gravity of the Earth 1s
2imaD cﬁ:aé\;:_ Prien D88 mé:-éaaﬂ:u:-
Options :

141

Question Number : 30 Question Id : 5013144836 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The-—-—--—-—--- was an era domunated by dinosaurs
& HFdnriod® o8l nmen (BFrE)) wbHDE0 DRSS

Options:

1 % Paleozoic

Mesozoie
2. %



Cenozoic
3. %

Proterozoic

Question Number : 31 Question Id : 5013144837 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Match the following

£ (308 780 85800,

1. Psilomelane a. Copper
2. Chalcopyrnte b. Uranmum
3. Galena c. Manganese
4. Pitchblende d. Lead
Options :
1-¢c,2-d 3-a.4-b
1. %
5 % 1-d, 2-c_ 3-a_4-b
1d, 2-b, 33 4c
3. %
1-c,2-a 3d 4-b
4. ¢

Question Number : 32 Question Id : 5013144838 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Arrange the followmg munerals with increasing grade of metamorphism
% |808 pleroih Srarodd (3R cron DEN (i Mbodod.

Options :

Chlorite, Garnet, Sillimanite Biotite
1. %

2. % Sillimanite, Chlorite, biotite, Garnet



Chlorite, Biotite, Garnet, Sillimanite
3.¢

Biotite, Chlorite. Sillimanite Garnet
4, %

Question Number : 33 Question Id : 5013144839 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following minerals 1s NOT a beach deposit?

et A — R0 | = = S =Y
& (Bod E° Sl S8 Jgaren =200 267
5 &

Options :
Cuprit
1 ¢ uprite

Zircon
2. %

Monazite
3. %

Tmenite
4, ®

Question Number : 34 Question Id : 5013144840 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which one of the following 1s not a charactenistic property of Quartz
s0E g Herd oo 500 267?
Options :

Presence of Cleavage
1.¢

WVitreous luster
2. %

Concoidal fracture
3. %

Hardness 7
4, ®



Question Number : 35 Question Id : 5013144841 Question Type
Correct Marks : 1 Wrong Marks : 0

Match the following minerals and their chemical composition
& (Sob plereid DO T8 Srrchi PHoaNeRD z&éﬁiﬁgjéz.

1. Rutile
2. Cassiterite
3. Pyrolusite
4. Zircon
Options :
1% 1-b, 2-¢, 3-d, 4-a
1-a, 2-b, 3-c, 4-d
2.
1-b_2-3_3-d_4-c
3.¢
4% 1d 2-b. 3¢, 3-a

anos

SHDQ
Ti10»
Z1r810y4
MnO-

: MCQ Option Shuffling : Yes

Question Number : 36 Question Id : 5013144842 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Identify the name (type) of the Fault

Godsn D B5HHE BB,

o

e

- 4

Options :

1. %

2.

Reverse fanlt

Strike fault




Tear fault

Dip fault
4, =

Question Number : 37 Question Id : 5013144843 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The most common reservoir rocks for petroleum are
GO0 Trerls w 8858 S8 o8s dof° edinod
Options :

Conglomerate
1. %

Shale
®

Schast
3. %

Sandstone
4. &

Question Number : 38 Question Id : 5013144844 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Identify the odd one

&% (Bob TEF vrgrddHh b

—_—

Options :

1% Ptilophyllum

Glossopteris
2. %

Gangamopteris



. Belemnites

Question Number : 39 Question Id : 5013144845 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The Paleozoic does not include the
2O@reranES® Homodsn 55

Options:
Triassic

1.4

> % Permian

3 % Devonian

Cambrian
4. ®

Question Number : 40 Question Id : 5013144846 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Identify the name of the below structure
& (808 DGBD MHbolod.

B i L s ca e i
B e el el v L et b
: - ik} =

Options :

Unconfornuty
1.4

Joint

Monocline
3. %

4% Sheeting



Question Number : 41 Question Id : 5013144847 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Match the following

(Bob 5 &'é&t’gw O,

. Lignite a. Bailadila

. Phosphorous b. Mangampeta
. Barytes c. Narvely

. Iron d. JThamarkotra mine

L

Y

Options:

1. ¢ 1-c,2-d, 3-b, 4-a

> % 1-d 2-a.3-b.4-¢

1-d. 2-¢.3-3_4-e
3. ®

lc 2-d 3-a 4-b
4, %

Question Number : 42 Question Id : 5013144848 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which among the following minerals 1s NOT 1sotropic

& (808 76° Sord pledn 206
Options:

Almandine
1. %

Olivine

2. ¥

Garnet

Cuprite
4, =



Question Number : 43 Question Id
Correct Marks : 1 Wrong Marks : 0

Sphalerite 15 an ore muneral of

Eatale ] T0E) ey
== _— [

Options :

~ Iron
1. %

Copper

3. % Lead

Zine

Question Number : 44 Question Id
Correct Marks : 1 Wrong Marks : 0

: 5013144849 Question Type

: 5013144850 Question Type

Mushroom topography 1s formed due to
DHE)ape Frehrh grindrsio Don wf)tHEob

Options :

1« Wind action

Raver action
2. %

Volcanoes
3. %

Moving ice

: MCQ Option Shuffling : Yes

: MCQ Option Shuffling : Yes

Question Number : 45 Question Id : 5013144851 Question Type : MCQ Option Shuffling : Yes

Correct Marks : 1 Wrong Marks : 0

Hutt1 in Karnataka is famous for

,_4 =Y T AaB e
=Ty i‘:'c‘.lf,_;:_;'d._.' o) o-_"-':"'-.f:. Conts |ededd
.. EC iy

Options :



Iron
Tin
Gold
c

Diamonds

Question Number : 46 Question Id : 5013144852 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Older rocks are surrounded completely by younger rocks is called as
38 doen Fror Sthn doed” DHyad 6ol BOET

Options :
1 % Overlap

Outlier
2. ®

Inlier

Monocline

Question Number : 47 Question Id : 5013144853 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Chemical composition of Chromute 1s
(B D0e5 Gng) Sarahs Hozbead

Options :
FE‘CI’QO_;
1.4

A_ICI'JD.;
2. %



CT]O.J.

Fe:04

Question Number : 48 Question Id : 5013144854 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

A fault n which hanging wall moves up relative to the foot wall 1s called
[odsnd® wonsird Hifo artiio Sod 8 dakand 0L

Options:

1.« Reverse fault

Normal fault

Tear fault

Gravity fault
4. %

Question Number : 49 Question Id : 5013144855 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The metal content of an ore 1s called
2.8 rébs3atD &S0 e ROLFED

Options :
1. % Grade

> % Zone

Tenor

Gaunge



Question Number : 50 Question Id : 5013144856 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Diamonds 1n volcanic pipe is best example for
=1

a0 3l = NPT BT - I, T o - T o
2 ;'o,ti-..é olo i &° nleEEre WBam Ond arirso
= %) a_ L o

Options :

Magmatic segregation

> % Residual hiquid segregation

Metasomatism

Magmatic dissemination
4.

Question Number : 51 Question Id : 5013144857 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The Miller symbol of the Tetrahexahedron 1s
debaigayf) Gng) eb drdstosin

Options :

111

Question Number : 52 Question Id : 5013144858 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0



The study of trace fossils 1s known as
(B35 derare efirabdsnd ©0EFH
Options :
@ Ormthology

Osteology
2. %

3 ¢ Ichnology

Entomology

Question Number : 53 Question Id : 5013144859 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Whach of the following 1s not a evaporate deposit
H08° e [B1Bah Tror wf)ER JgHn

Options :
G .
- ypsum

> % Rock salt

Anhydnte
3. %

Bauxite
4, &

Question Number : 54 Question Id : 5013144860 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The voleanie breceia 1s called as
St (B8 airsh B0
= (%] ¥ I —

Options :

Agglomerate
1.¢



Conglomerate

Rudites

Lutites

Question Number : 55 Question Id : 5013144861 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Nagn formation belongs to which system
AN Seesiio S :::é..;;:.; onobotnk

Options :

1 % Vindhyan

Stwalik
2.

Eurnool

Kaladgi
4% aladgi

Question Number : 56 Question Id : 5013144862 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Marbles are formed due to metamorphism of

i e < A
Sersels Grarosd oRRE (Hord S8 7

Options:

“ Argillaceous rocks

Siliceous rocks

Arenaceous rocks
3. %



Carbonate rocks
4.

Question Number : 57 Question Id : 5013144863 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

In cataclastic metamorphism donunant agent 1s

it

= 2. e = Ty o w .
SérehE Srarodd 3RS (NN =8%o ab
) S g

Options :

Directed pressure
1.+

Uniform pressure
2. %

Chemiecal flmds
3. %

Temperature
4. ®

Question Number : 58 Question Id : 5013144864 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The discontinuity between earth’s crust and the mantle 1s known as
grdtioo Hbdin (prardoid EGw (Elfi,égﬁl woons b

Options :

Gutenberg discontmuity
1. %

Mohorovicic discontinuity
2.

Lehmann discontinuity

Conrad discontinuity
4, ® ]



Question Number : 59 Question Id
Correct Marks : 1 Wrong Marks : 0

Match the following

S (3ol R ol

: 5013144865 Question Type : MCQ Option Shuffling : Yes

1. Barchan a. Volcanic
2. Caldera b. Glacial
3. Alluvial fans c. Wind

4. Moraines d. Raver

Options :
l-e¢.2-d. 3-a.4-b

1. %

l-¢2-a.3-d. 4b
2.V

1-d, 2-a, 3-b, 4-c
3. %

1-d 2-a 3-b 4c
4, ®

Question Number : 60 Question Id
Correct Marks : 1 Wrong Marks : 0

: 5013144866 Question Type : MCQ Option Shuffling : Yes

The grain size of pebble in sedimentary rocks 1s

fosoron @R Sitn sco 508 (as)

Options :

/16 to 2 mm

4 to 64 mm

1/256 to 1/16 mm

<1/256 mm

Question Number : 61 Question Id
Correct Marks : 1 Wrong Marks : 0

: 5013144867 Question Type : MCQ Option Shuffling : Yes



The structure of a Bombay high 15 a

dPozron T GnE) (3ie) Pyl
RS,

Options :
1 % Fault

5 % Basin

Syncline

Anticline
4.,

Question Number : 62 Question Id : 5013144868 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

If the dip angle of a fault is 15°, what is its Hade?

st ity Fvoy b 0 s ke
(oo dng) A& B'mo 15 @@, TrE Jod

Options :

Question Number : 63 Question Id : 5013144869 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The silicon: oxygen ratio in double chain silicate structure 1s
Engosd 10w efims A58

sl

Options :
1. %



1:3
2. %

4:11
3.9

7 |
4, %

Question Number : 64 Question Id : 5013144870 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

In recumbent fold the axial plane 1s essentially
RoUNRRE” e Jinsao &0E00k
Options :

Inclined
1. %

Horizontal
2. %

Rounded

Vertical

Question Number : 65 Question Id : 5013144871 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Tin ore occurs generally in
85 7D & 0f%ob

Options :

Acid 1gneous rocks

Alkaline rocks
2. ®



Carbonatites

Basic 1igneous rocks

Question Number : 66 Question Id : 5013144872 Question Type
Correct Marks : 1 Wrong Marks : 0

Silicification and mineralization indicates
29856 b BpREStm 2 Sedkon?

Options :

Fault zones

1.4
Folds
2. ®
WVoleanism
3. %
Unconformities
4. %

Question Number : 67 Question Id : 5013144873 Question Type
Correct Marks : 1 Wrong Marks : 0

Which of the following 1s the oldest mountains in India?
% (Boh TRE° grdsndod ) sjTrs éfﬁ;_@'—*tu:- a8l

Options :

Sheshachalam

Aravalli

Eastern Ghats

: MCQ Option Shuffling : Yes

: MCQ Option Shuffling : Yes



Himalayas

Question Number : 68 Question Id : 5013144874 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Flat-topped submarine seamount 1s called as

Sthgd d0grmren Mo Siprosds Hd (Smedd ©0otrH
¥ ol T e

Options :
1 % Caldera

Moraine

Guyot
3.¢

Shear zone
4, %

Question Number : 69 Question Id : 5013144875 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Best example for residual concentration deposit

w8y FFolpStn Jud i Jgired eurirde

Options :

1% Asbestos

Coal

Sillimanite
®

Laterite
4, &

Question Number : 70 Question Id : 5013144876 Question Type : MCQ Option Shuffling : Yes



Correct Marks : 1 Wrong Marks : 0
The muneral deposit has formed later than the host rock 1t 1s called
e Qgaken BT e o= 55 Dobhs LoD

Options:

1 v Epigenetic deposit

Evaporate deposit
2. %

3 % Placer deposit

Syngenetic deposit
4. %

Question Number : 71 Question Id : 5013144877 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

High temperature, hydrothermal solution deposits near the intrusive 1s called
@08 &EHIS &3200D [praieren wosdire (Y0 Jgarerrr SrePohE rHR)
i3 = = O 1 -

Hdaren 0T
Ll

Options :

Metasomatic
1. ®

Hypothermal
2.9V

Epithermal

Mesothermal
4, %

Question Number : 72 Question Id : 5013144878 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The grain size of the shale 1s
268 Do H05mso



Options :

=1/256 mm
1.9

1/128 — 1/64 mm

2. ®

1/256 - 1/128 mm
3. ®

=27 mm
4, %

Question Number : 73 Question Id : 5013144879 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Eclogites consists mainly
LB |Hordorr DA 4oinod

Options :

Quartz and feldspar

Omphacite and pyrope

Hornblende and plagioclase
3. %

Quartz and sillimanite
4, ®

Question Number : 74 Question Id : 5013144880 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Leucite belongs to

IR W~ AN T . N
e ) &S RoDokodnk

Options:
_ Amphiboles
1. %

2. ¥



Feldspathoids

Pyroxenes

Feldspars
4, =

Question Number : 75 Question Id : 5013144881 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Match the following:

S (808 PR e3dEity)Em,

. Hornblende
Forsterite
Pigeonite

. Almandine

P. Pyroxene
Q. Amphibole
R. Garnet

S. Olivine
Code:

[ FTR -

Y

Options:

P53 Q4 R-1 5-2

P3 Q-1 R4 82

Question Number : 76 Question Id : 5013144882 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0
Gondites are host rocks for

f st oy L ] B I Jiene
o pllerod APogien Hiredoen

Options :

Copper deposits



Bauxite deposits

2.

Manganese deposits
3.¢¥

Gold deposits
4. %

Question Number : 77 Question Id : 5013144883 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

In nepheline syenite, quartz percentage 1s
IDHI HAHFEE, s05E €0 o

Options :

0%
1.9

52%

36%

24%

Question Number : 78 Question Id : 5013144884 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Arrange the specific gravity of the following in descending order (high to low)
& (808 plzro D8 MHthénsind Q8 od SESrr S8OAD weAd Mhbodod

A) Barite B) Galena C€) Gypsum D) Diamond
Choose the correct answer

Options:

1. % ACD,B

A B,DC
®

B.ADC



4.% AB.C,D

Question Number : 79 Question Id : 5013144885 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Match the following

& |Bob &R esdEidyshn,

1. Nesosilicate a. Albite

2. Sorosilicate bh. Zircon

3. Phyllosilicate c. Epidote

4. Tectostlicate d. Muscovite
Options :

1-b,2¢,3-d 4-a
1.4

5 % 1-b. 2-d_ 3-a 4-c

1-d. 2-¢_3-a_4-b
3. %

1-¢c,2-d, 3-b, 4-a

Question Number : 80 Question Id : 5013144886 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Devoid of axes of symmetry and planes of symmetryin
% é,;é%-?ﬁ:- 20bD F%“:&S‘E)fﬁ ﬁs;éo Rshderen shboin FFRaFEren So8a)
Options:

Triclinic system
L 4

Monoclinic system
2. %

Tetragonal system
3. %



Isometric system

Question Number : 81 Question Id : 5013144887 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Columnar joints are characteristic of

T e g R g Lala [ A e
Hogrs=t dothen o 4oe @) 1Pl ofso
_— = ey

Options :
Marble

2 & Basalts

Schist

Granodiorites

Question Number : 82 Question Id : 5013144888 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Paradoxides 1s an index fossil of

FUEE)E frds dereo
Options :
Tertiary

Cambrian

Triassic

Permian

Question Number : 83 Question Id : 5013144889 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0



Which of the following rocks 1s chemically equivalent to plutonic Gabbro rock?
% (Bob TOE° SarahlBorr s o modH Serghd 4

Options :

Trachyte
1. %

Basalt
2.9

3 % Rhyolite

Granite
4, ®

Question Number : 84 Question Id : 5013144890 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The record of an earthquake shock 1s called
grgon szw?ﬂgé‘?i [Te bl ve

Options :

Selsmogram
1.¢

> % Seismograph

Hydrograph
3. %

Hydrogram
4. %

Question Number : 85 Question Id : 5013144891 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Pleochroism can be seen 1n

N S Y R R oy
égmﬂ_ﬁ:—gﬁém od BJ220 CT':'J.-J:_;_,'_ ﬁ’-:‘:’_._r’;"‘"
&= G

Options :
1.4



Biotite

Garnet
Spinel
Galena

Question Number : 86 Question Id : 5013144892 Question Type : MCQ Option Shuffling : Yes

Correct Marks : 1 Wrong Marks : 0

Ophitic texture 1s characteristic of
&S sdbdo (s efmorr e de

Options:
Lamprophyres

Syenites
2. %

3 % Rhyolites

Dolerites

4. v

Question Number : 87 Question Id : 5013144893 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Ieneous rocks are classified as ultramafic with silica
o) oot DT FE0 &08 w8s5rdhE foeorr éf;-:ﬁ-‘ima‘*fﬁ:n

Options :
45-52%

2 < 45%



> T2%

66 — 72%

Question Number : 88 Question Id
Correct Marks : 1 Wrong Marks : 0

: 5013144894 Question Type : MCQ Option Shuffling : Yes

Which of following 1s most resistant to weathering?
& |80 &S 3hexodh LEERT SeBHah

Options :

Quartzite
1.4

. Limestone
2. %

Olivine

Marble

Question Number : 89 Question Id
Correct Marks : 1 Wrong Marks : 0

Phlogophite 15 a

i ==
PR odb

Options :

Sodium mica
1. %

2 « Magnesium mica

“ Potassium mica

4 % Lithinm mica

: 5013144895 Question Type : MCQ Option Shuffling : Yes



Question Number : 90 Question Id : 5013144896 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Example for piezoelectric mineral

ot T SRR oy A il o
=5 Eﬁ;@ BerhE &mriTdo

Options :

Corundum

nartz
2. ¥ Q

Caleite

4 % Microcline

Question Number : 91 Question Id : 5013144897 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Gauno 1s a
™ odb

Options :

Phosphatic deposit

Calcareous deposit
2. %

Siliceous deposit
3. %

Ferruginous deposit
4., %

Question Number : 92 Question Id : 5013144898 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Gneisses derived from sedimentary rocks 1s called as
©IEH S HHod GBS SHeD BOLFH



Options :

Para gneisses
1.+

Migmatite
2. %

Kondalite

Ortho gneisses

Question Number : 93 Question Id : 5013144899 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The axial plane 1s essentially vertical in a
wf Jibdwo B8 wonorr sot HED BOLTE)
Options:
Asymmetrical fold

1. %

> % Eecumbent fold

Overturned fold
3. %

Symmetrical fold
4.

Question Number : 94 Question Id : 5013144900 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The joints developed adjacent to major faults are called
[B5es |gomre S8 A5G Sothed ElethcleY

Options :
1. % Dip joints

5 % Release joints



Feather joints

Bedding joints
4. %

Question Number : 95 Question Id : 5013144901 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following minerals are not a abrasive
& (8ol RE° eddsra 5208 287

Options :

Diamond

Caleite
2. %

Garnet

Corundum
4, %

Question Number : 96 Question Id : 5013144902 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following 1s NOT a glacial landform

~

& (Bob RS ErERODE Sdrdo S0 06
Options :

Drumlins
1. ®

5 % Eskers

3 & Caldera

4 % Cirque



Question Number : 97 Question Id
Correct Marks : 1 Wrong Marks : 0

Streak of the Hematite is
S _'|.§L=T fanny My A Ame

T ol0ed LO05) CelD
= [~

Options :
Silver
Green

White

Cherry red
4.

Question Number : 98 Question Id
Correct Marks : 1 Wrong Marks : 0

Sheeting 1s commonly observed n

: 5013144903 Question Type : MCQ Option Shuffling : Yes

: 5013144904 Question Type : MCQ Option Shuffling : Yes

ot YL O - — & £ e T e e
sef 2g)8 dod” odpdshorr GBdoh sotnob
— 2o

Options :
Granites
1.%

Basalts

Dolerites

Rhyolites

Question Number : 99 Question Id
Correct Marks : 1 Wrong Marks : 0

: 5013144905 Question Type : MCQ Option Shuffling : Yes



The essential raw material for manufacture of cement 1s
fizbot) SasrdE” eidrnod e Sndiurgo
Options :

1% Kyanite

Limestone
2.

3 % Asbestos

Sphalerite
4. %

Question Number : 100 Question Id : 5013144906 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Identify the given fossil
& (Bob Bereoih hlodod.

Options :

1. % Murex

5 % Voluta

3 ¥ Turritella

Terabratula





